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Note: our N0 invokes the notion of 115522 185, which has a single meaning but distributes into to two types of applications. There may be a
185 which has numerous applications (D77 5y 15981 K5 is interpreted as a N5 of eating from a 297 before 777171, a 85 for a member of 1770
to eat on a day that they execute someone — and several more [.20 77720]) as well as a single x5 that lists several components (for instance, v.
1 below); the rule that 115523 IRS 5 pip1s PN means that in the first case, no mop are given at all and in the second — only one is given, even
if the transgessor violates several of the components of the p1oa. Cf. x:n> pa71720 11957
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I Dispute n'nan/oxynw 7 as to number of mpbn for eating 11 2w2 ,1w 25N (W/D>TY and NXINN; Mdn absolves n72)
a  SNypY’’T. 3 MRUN
b omomonly 1
i Proposal: dispute is whether there are man for m%532w 1RY (see note)
ii  Rejection: all agree that there are no man for m5%21v R
1 »” this case is different, as v. 1 contains superfluous words
iii Explanation#1: text could have said 1758n R 29N 92
1 Rejection: had it said that, we would have thought that n'n a%n is included
iv. Explanation #2: text could have said ¥7a8n 8% 11w a%n 5
1 Rejection: if so, we would have inferred M1Ww::mv from »»o (v’ MNW) and included birds and nvn
v Explanation #3: text could have said 1781 RY 2w 29N 93
1 Rejection: if so, we would have thought the 170’8 was limited to lambs, as they have the fatted tail
(a) Per: ®omn v's justification of 2wy MW and 1y in v. 2
vi  Rather: we return to explanation #1 — we wouldn’t have extended to n’n, as v. 1 is in context of mw7p — only nnna
1 Challenge: 1321 must also accept the principle of context (110 Tn5n 127)
2 Answer: they do, but aren’t willing to infer from n73 (v. 4) to WY (vv. 1, 3); 1 infers 18Y even from n7
3 Alfernate answer: 1327 maintain v. 1 is necessary, else we would have prohibited 5% of 1>
(@) Therefore: 11 2921 MV 25N 51 equates them Ponly 25n which is common to all 3 is TOR
(b) Swypws 7. if so, no need to add 1 (awm MW would have been enough); "1y">pHnb
vii Note (827211 77): 1 agrees that there is only 1 nkvn (even when multiple man)
1 Reason: this isn’t similarly constructed to the &5 of m»y (which are fully modular x%)
II  Inquiry into 8n>»»1 regarding multiple mron for variations on 159n
a  Nn7ix interpreting nnXk and man (v. 5) — could be liable for 2 mron with 1 ow and 2 mnYyn or vice-versa
i Question (n”15 n727): multiple mnbyn is understood; but why multiple mxrvn within one nYyn?
ii ~ Answer: case is where he ate 29n of 1mm (hence "minw Mv”)
1 Challenge: if so, he should be liable for 3 — also for eating wmp
2 Rather (nww "7): case is where he is eating W10 25N, per NI’ "
(@) ~r777x double-liability for eating n%21 290 or DWIPM 250; AT’ 1 holds that pwTPIM 25N has 3 mxron
(b) Reaction in »’4: why not say that it is YRynw’ ", (per above) and he ate 1 wan 1w 250 (3 MpHn)
(c) Answer: per Ryan "1 (above), can’t be YRy’ ', as he limits possible mron to 1
(d) Parallel: can’t establish it as N7’ 79, per 8™ — N *1 agrees that there is only 1 129 (for DTN 29N)
iii  Rather (57aw7): per yv1iv "7, if he ate them in two bowls (ywin "1 — pponn Prnnn)
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III Revisiting xn» 1 about double or triple mxon for »WTPI 25N (2 — D'NIM; 3 — NMN* ')
a  Comment (X275 »arw 77): »"7's position is understood — there are 3 118Y here (vv. 1, 3, 6); what is 1327’s source?
b Answer: v. 3 is exclusively about mw7p; v. 1 exclusively about p5mn
i Justification: if we only learned D*w7p 129n MoK, we would think that due to the DwTp NN — but not P>
1 And if: we only learned % a9n MR, we wouldn’t apply to D'w1p, which have 1mnw R (meat) — kMR
¢ amir’rv. lisin the context of Dw1p Dapplies also to WP (DDWTPI 29N has 2 IRY)
i Challenge: don’t 1321 accept the principle of 121910 150 727?
1 Answer: they do, but disagree with nT "7 as to whether we can infer from n157 18
ii ~ Question: according to nTn’ "1, what is need for v.3?
iii Answer: to set up parallel with o7 (via wpn): eating DwTpIM DT carries 2 man (13121 — only one)
1 Challenge: wip>n not needed to generate 2 man for ow»N B7; just like 29N, there are 2 wpoa (vv. 3, 7)
2 Rather: just as DWTPIN 25N carries 3 Man, so too does DWTMIN DT
(a) Challenge: why does o7 require wp’n for 3; should be same as 25n
(b) Answer: needed; ™0 just as 07 is excluded from MMV DWTP NYIR NOR, so too for M — H"np
iv Question: according to 1327, what is the need for the wp'nin v. 3?
1 Answer: just as aYn is distinct from meat 101w don’t merge; similarly 07 isn’t 970xn (for 2N NYV) w/wa
(a) But not: »¥1w 07 (which is one with flesh) which is 970%n (which we get via wp>n with 19n)
(b) Challenge: we know 7v1 Dy ¥ D7 NPX from v. 8
(i) Answer: without wpn, we would think exception for D’¥7w D7 is only for NkRMY — WP’R >nYIR too
1. #1727 therefore, snake blood and flesh are q10%n (for mon)
a.  Challenge: this obviously follows from the above
b. Answer: R"10 only D'¥7w w/ nkmv have this rule > whenever n7isn’t separate from w1
IV ®17's explanation for the 3 mentions of N3 for ingesting ©7 (7:1 ;1 ,12:1 RIPM); PN DT, WTP DT, N*¥nn 0T (after waIN BT)
a  Challenge: this works according to nT1? 7, who (contra 1327) holds that n'xnnn o7 carries n12
i But:according to 1129, it is “only” a 8% — what is the 3 nq2?
ii  Inaddition: even N " infers n'xnnn o7 from “07 %3” — not from an extra mention
b Rather: w1p 07,9M 0T and »o3 DT (PP 7N OT)
¢ And (»37): there are 5 1RY in DT — D128 DT DI DT ,WTPIN DT,PYIN DT and NP¥PINN D7
V 8RR ’7’s dictum regarding multiple man for eating varied types of w”yn outside of the walls of n5w1 (v. 10)
a  If: he ate wheat, olive oil and wine of w"yn outside walls — 3 man
i Challenge: we don’t administer man for m5%31w X5 (see note)
ii ~ Answer: this case is different, as v. 10 contains redundant phrasing (in light of v. 9)
1 Challenge: perhaps v. 10 is adding the W% to the act (of eating outside)
2 Answer: if so, no need to explicate all 3 - just state 71w n%3RY Y21 RY; explicit repetition ->n%x for each
VI pny ¥'s ruling regarding multiple man for eating 507121 '%p ,0n% (TN —v. 11)
a  Challenge: we don’t administer man for m5%31w X5 (see note)
b  Answer: this case is different, as v. 11 contains redundant phrasing
i Argument: could have stated on? alone — we would have inferred »>p (toasted corn) and 5n75 (moist grain)
1 Block: we wouldn’t have extended — nn% is uniquely obligated in n5n
ii  Rather: could have stated *vp
1 Block: "9p is unique — it is still in original shape (unlike wheat) and wouldn’t have given us on5
iii ~Rather: could have stated Yn72
1 Block: 973 is unique — still in original form (unprocessed)
iv  Rather: infer *op from 91131 nnY(not 'y onY >5n1; used for mNn; not Y131 *9p > onY; both in original shape)
1 Challenge: perhaps there are indpendent man for *p (extra) and 1 for all the rest
2 Answer: that's why '5p is the middle unit in the 3 — on? carries punishment of '5p, & *9p’s man carry to Y172
VII %21y 587w pIR 200 and their praise for/defense of nw nn —
a N /7 5mais inferred via vy (vv. 12-13)
b xpo 77 A (v. 14) is inferred via w1p::wTp
C 238 INDNRN N1 is inferred via Min:nan, nnt:Ant
d wx 7 oYpo) are inferred from MyT 18 ("D2 DNTY)
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